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1 Question Description In which year did India launch the Soil Health Card Scheme to promote sustainable farming practices by assessing the soil health of

farmers' fields?

A 2013

B 2015

c 2017

D 2019

E None of the above
Correct Answer B

Marks 1



Question Description False smut of paddy is caused by

A Claviceps purpurea
B Sclerotium oryzae

c Ustilaginoidea virens
D Erysiphe graminis

E None of the above
Correct Answer C

Marks 1

Question Description The ratio of phenotypes in F2 of a monohybrid cross is
A 1:2:1

B 3:1

c 2:1

D 9:3:3:1

E None of the above
Correct Answer B

Marks 1



Question Description The concept of soil formation as a function of climate, organisms, relief, parent material, and time (CLORPT) was introduced by

Hans Jenny in which year?

A 1925

B 1941

c 1955

D 1962

E None of the above
Correct Answer B

Marks 1

Question Description Panama disease of banana is caused by
A Bacillus moniliformis
B Trychoderma viridi

c Fusarium oxysporum
D Aspergillus flavus

E None of the above
Correct Answer C

Marks 1



Question Description A process used by growers to produce well branched , compact plants with many flowers is called

A Stunting

B Compacting

c Pinching

D Potting

E None of the above

Correct Answer C

Marks 1

Question Description The Plant Quarantine Order (Regulation of Import into India) was enacted in which year to prevent the entry of exotic plant
pathogens?

A 1984

B 1988

c 2003

D 2011

E None of the above

Correct Answer C

Marks 1



Question Description The concept of "carbon credits" as part of a market-based approach to reduce greenhouse gases was first introduced in which year,

and in which treaty?

A 1992, Rio Earth Summit
B 1997, Kyoto Protocol

c 2001, Doha Amendment
D 2005, Paris Agreement
E None of the above
Correct Answer B

Marks 1

Question Description Law of substitution is given by
A Marshall

B Smith

c Gossen

D Walker

E None of the above
Correct Answer C

Marks 1



10 Question Description Sitotoga carealella is scientific name of

A Pulse beetle
B Rice weevil
c Grain moth
D Shoot fly
E None of the above
Correct Answer C
Marks 1

11" Question Description The biological control of Parthenium using a Mexican beetle
A Zygogramma bicolorata
B Epiblema strenuana
c Agromyza lantanae
D Theola echion
E None of the above
Correct Answer A

Marks 1



12 Question Description In which year was the concept of RNA interference (RNA1) first proposed as a method for pest control, and by which scientist?

A Charles Riley, 1970
B Andrew Fire, 1998
c David Baulcombe, 2000
D Richard Jorgensen, 2004
E None of the above
Correct Answer B
Marks 1

13 Question Description ‘Silver shoot’ is caused by
A Grass hopper
B Stem borer
c White fly
D Gall midge
E None of the above
Correct Answer D

Marks 1



14" Question Description Pusa sawani is a variety of

A Tomato
B Okra
c Chillie
D Potato
E None of the above
Correct Answer B
Marks 1
15 Question Description Fidelity in communication is associated with
A Noise
B Distortion
c Effectiveness
D Barrier
E None of the above
Correct Answer C

Marks 1



16 Question Description Phenotypic dihybrid ratio is

A 9:6:3:1

B 9:3:3:1

c 15:1:1

D 1:2:1

E None of the above
Correct Answer B

Marks 1



17" Question Description The Central Insecticides Board & Registration Committee (CIBRC) in India was established under which act to regulate the use of

insecticides?
A Insecticides Act, 1955
B Insecticides Act, 1968
c Insecticides Act, 1971
D Insecticides Act, 1985
E None of the above
Correct Answer B

Marks 1



18

19

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Counter stain use in gram staining

Ethyl alcohol

Iodine solution

Crystal violet

Safranine

None of the above

‘Hopper burn’ is caused by

Leptocorisa varicornis

Bemisia tabaci

Spodoptera litura

Nilaparvata lugens

None of the above



20 Question Description Which year marked the introduction of center pivot irrigation, and who was the inventor?

A 1940, Frank Zybach
B 1952, Norman Borlaug
c 1965, Percy Spencer
D 1975, Robert Daugherty
E None of the above
Correct Answer A
Marks 1
21" Question Description The cause of flattening of branches of sapota is
A Phomopsis anacardii
B Phaeopleospora indica
c Botryodiplodia theobromae
D Cephaleuros versicolor
E None of the above
Correct Answer C

Marks 1



22

23

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Browning in cauliflower can be corrected by use of

Ammonium sulphate

Zinc sulphate

Borax

Urea

None of the above

C
1

Minimum germination standard for foundation seed of paddy is

75 %

80 %

85 %

90 %

None of the above



24

25

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Coffee rust is caused by
Puccinia graminis
Cephaleuros coffeae
Helminthosporium coffeae
Hemileia vastatrix

None of the above

In which year was the Mhadei Wildlife Sanctuary in Goa notified, aimed at protecting the Western Ghats' unique flora and fauna?
1980
1992
1999
2002

None of the above



26 Question Description In quantitative genetics, the term "narrow-sense heritability" (h?) is defined as the ratio of:

A Genetic variance to phenotypic variance
B Additive genetic variance to total genetic variance
c Dominant genetic variance to environmental variance
D Additive genetic variance to total phenotypic variance
E None of the above
Correct Answer D
Marks 1
27 Question Description What is the name of the test used to determine the goodness of fit between observed and expected frequencies in genetics?
A Fisher's Exact Test
B Chi-square test
c ANOVA
D T-test
E None of the above
Correct Answer B

Marks 1



28

29

Question Description The first Krishi Vigyan kendra in India was established at
A Delhi

B Punjab

c Maharashtra

D Pondichery

E None of the above

Correct Answer D

Marks 1

Question Description The “Training and Visit System” of extension was pioneered by which agricultural extension expert?
A Daniel Benor

B Norman Borlaug

c C.K. Prahalad

D Nehru

E None of the above

Correct Answer A

Marks 1



30 Question Description The concept of "Participatory Rural Appraisal" (PRA) in agricultural extension was first introduced by whom?

A David Mosse

B Norman Uphoff

c Robert Chambers
D Jules Pretty

E None of the above
Correct Answer C

Marks 1



31

32

Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the questions

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any
attempt to force the universe into conformity with what we find in ourselves. There is a widespread philosophical
tendency towards the view which tells us that Man is the measure of all things, that truth is man-made, that space and
time and the world of universals are properties of the mind, and that, if there be anything not created by the mind, it is
unknowable and of no account for us. This view, if our previous discussions were correct, is untrue; but in addition to
being untrue, it has the effect of robbing philosophic contemplation of all that gives it value, since it fetters
contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of prejudices, habits, and
desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such a theory of

knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

According the passage, the philosophical view which considers “Man” as the measure of all things and truth to be man-
made, espouses ---------- in lieu of knowledge

union with Non-self

prejudices, habits and desires

union with Self

impenetrable veil between self and the world beyond

None of the above



Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the questions

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any
attempt to force the universe into conformity with what we find in ourselves. There is a widespread philosophical
tendency towards the view which tells us that Man is the measure of all things, that truth is man-made, that space and
time and the world of universals are properties of the mind, and that, if there be anything not created by the mind, it is
unknowable and of no account for us. This view, if our previous discussions were correct, is untrue; but in addition to
being untrue, it has the effect of robbing philosophic contemplation of all that gives it value, since it fetters
contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of prejudices, habits, and
desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such a theory of

knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

As per the passage, what is impaired by any attempt to force the universe into conformity with what we find in
ourselves?

self
non-self
union
knowledge

None of the above



33 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage below and answer the questions

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any
attempt to force the universe into conformity with what we find in ourselves. There is a widespread philosophical
tendency towards the view which tells us that Man is the measure of all things, that truth is man-made, that space and
time and the world of universals are properties of the mind, and that, if there be anything not created by the mind, it is
unknowable and of no account for us. This view, if our previous discussions were correct, is untrue; but in addition to
being untrue, it has the effect of robbing philosophic contemplation of all that gives it value, since it fetters
contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of prejudices, habits, and
desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such a theory of
knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

Identify from the options given below, a word or phrase, which means to damage or harm
fetter

rob

impair

force conformity

None of the above

C
1



34 Comprehension Read the passage below and answer the questions

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any
attempt to force the universe into conformity with what we find in ourselves. There is a widespread philosophical
tendency towards the view which tells us that Man is the measure of all things, that truth is man-made, that space and
time and the world of universals are properties of the mind, and that, if there be anything not created by the mind, it is
unknowable and of no account for us. This view, if our previous discussions were correct, is untrue; but in addition to
being untrue, it has the effect of robbing philosophic contemplation of all that gives it value, since it fetters
contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of prejudices, habits, and
desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such a theory of

knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

Question Description Indicate from the options provided the closest antonym of ‘conform’ as used in the passage:
A flout

B bypass

c flaunt

D deny

E None of the above

Correct Answer A

Marks 1

35



Comprehension Read the passage below and answer the questions

Knowledge is a form of union of Self and not-Self; like all unions, it is impaired by dominion, and therefore by any
attempt to force the universe into conformity with what we find in ourselves. There is a widespread philosophical
tendency towards the view which tells us that Man is the measure of all things, that truth is man-made, that space and
time and the world of universals are properties of the mind, and that, if there be anything not created by the mind, it is
unknowable and of no account for us. This view, if our previous discussions were correct, is untrue; but in addition to
being untrue, it has the effect of robbing philosophic contemplation of all that gives it value, since it fetters
contemplation to Self. What it calls knowledge is not a union with the not-Self, but a set of prejudices, habits, and
desires, making an impenetrable veil between us and the world beyond. The man who finds pleasure in such a theory of

knowledge is like the man who never leaves the domestic circle for fear his word might not be law.

Question Description Read the following statements and say whether they are true or false, on the basis of the passage:
(1) Man-centric view of the universe and the notion that truth is man-made is utterly fallacious

(11) Far from being true, it denies any scope to human mind for contemplation of matters of intrinsic worth to itself

A statement (i) is true but statements (ii) is false
B both the statements are true

c both the statements are false

D statement (i) is false but statements (ii) is true
E None of the above

Correct Answer B

Marks 1



36 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage below and answer the questions

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or odd.
But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like to
practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself, but
if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to blow the
trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to accommodate my

liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the imperfections of others
in this respect than of our own. A reasonable consideration for the rights or feelings of others is the foundation of social conduct.

It appears from the passage that ‘the whole kingdom’ implies
one’s privilege of liberty without violating that of others’

our own free will and liberty

our free and private space to enjoy liberty

our personal space in relation to public spaces

None of the above



37 Comprehension

Question Description
A

B

Correct Answer

Marks

Read the passage below and answer the questions

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or odd.
But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like to
practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself, but
if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to blow the
trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to accommodate my

liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the imperfections of others
in this respect than of our own. A reasonable consideration for the rights or feelings of others is the foundation of social conduct.

In the context of the passage, the closest synonym for ‘accommodate...to’ can be ------
adapt to

adjust with

integrate with

modify by

None of the above



38 Comprehension

Question Description
A

B

Correct Answer

Marks

Read the passage below and answer the questions

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or odd.
But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like to
practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself, but
if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to blow the
trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to accommodate my

liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the imperfections of others
in this respect than of our own. A reasonable consideration for the rights or feelings of others is the foundation of social conduct.

The phrases “wise or ridiculous, harsh or easy, conventional or odd” in the above passage, describe our -------
kingdom

actions

Rule

behaviour

None of the above



39 Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the questions

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or odd.
But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like to
practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself, but
if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to blow the
trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to accommodate my
liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the imperfections of others
in this respect than of our own. A reasonable consideration for the rights or feelings of others is the foundation of social conduct.

Read the following statement carefully and identify the option that is its closest version with the least change in the meaning of the
original
“ Unfortunately, we are much more conscious of the imperfections of others, in this respect, than of our own”

Fortunately, we are not much more conscious of the imperfections of others, in this respect, than of our own

Unfortunately, we are much less conscious of the imperfections of others, in this respect, than of our own
Unfortunately, we are not any the less conscious of the imperfections of others, in this respect, than of our own
Fortunately, we are much more conscious of the imperfections of others, in this respect, than of our own

None of the above






40 Comprehension

Question Description

Correct Answer

Marks

Read the passage below and answer the questions

We have a whole kingdom in which we rule alone, can do what we choose, be wise or ridiculous, harsh or easy, conventional or odd.
But directly we step out of that kingdom, our personal liberty of action becomes qualified by other people’s liberty. I might like to
practice on the trombone from midnight till three in the morning. If I went on to the top of Everest to do it, I could please myself, but
if I do it in my bedroom my family will object, and if I do it out in the streets the neighbours will remind me that my liberty to blow the
trombone must not interfere with their liberty to sleep in quiet. There are a lot of people in the world, and I have to accommodate my
liberty to their liberties. We are all liable to forget this, and unfortunately, we are much more conscious of the imperfections of others
in this respect than of our own. A reasonable consideration for the rights or feelings of others is the foundation of social conduct.

The word ‘trombone’ in the passage refers to ----

the tone of voice

a musical note

the throat bone

wind instrument

None of the above



41" Question Description Which state is planning to build India’s first solar-powered expressway by 2026?

A Gujarat
B Mabharashtra
c Uttar Pradesh
D Madhya Pradesh
E None of the above
Correct Answer C
Marks 1

42 Question Description Which state is hosting the first Formula 4 car race in South Asia?
A Mabharashtra
B Gujarat
c Tamil Nadu
D West Bengal
E None of the above
Correct Answer Cc

Marks 1



43 Question Description What is the new name of Port Blair announced by the Home Minister of India?

A Sri Chandra Puram
B Sri Vijay Nagar
c Sri Vijaya Puram
D Sri Chola Boomi
E None of the above
Correct Answer C
Marks 1

44 Question Description Who is appointed as head coach of Goa Cricket Association Senior Men’s Team Recently
A Dinesh Mongia
B Robin Singh
c Venkatapathy Raju
D Ashish Nehra
E None of the above
Correct Answer A

Marks 1



45 Question Description Who is the winner of late Smt. Sunandabai Dayanand Bandodkar Memorial Blitz FIDE Rating Chess Tournament

A Madan Lad
B Nitish Belurkar
c Abhishek Kelkar
D Pankaj Bhat
E None of the above
Correct Answer B
Marks 1

46 Question Description In which Indian state was the world’s first Asian King Vulture Conservation and Breeding Centre inaugurated?
A Maharashtra
B Gujarat
c Uttar Pradesh
D Rajasthan
E None of the above
Correct Answer C

Marks 1



47" Question Description Which country is participating with India in the joint military exercise "Yudh Abhyas' in 2024?

A Russia
B Australia
c United States
D United Kingdom
E None of the above
Correct Answer C
Marks 1

48 Question Description ______was sworn in as new Chief State Information Commissioner of Goa.
A Arvind Kumar Nair
B Venkat c.k.
c Sumit Kumar Patel
D Srirang Barve
E None of the above
Correct Answer A

Marks 1



49 Question Description Which state became the first to offer AYUSH services in all urban primary health centres?

A Chhattisgarh
B Madhya Pradesh
c Odisha
D Gujarat
E None of the above
Correct Answer B
Marks 1
50 Question Description Who completed the first private spacewalk at a record-setting height?
A Michael Collins
B Pavel Vinogradov
c Jared Isaacman
D Fyodor Nikolayevich Yurchikhin
E None of the above
Correct Answer C

Marks 1



51" Question Description If first and third digits of each number are interchanged and then numbers are arranged in ascending order then which of
the following will be the second number from right end?

A 2764

B 9862

c 7983

D 5493

E None of the above
Correct Answer C

Marks 1



52 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of '::' . One
word is given on another side of '::' while another word is to be found from the given options, having the same relation with
this word as the words of the given pair . Choose the correct word from the following options..

MAD : JXA :: RUN:?

A 0SQ

B PRJ

c UXxaQ

D ORK

E None of the above
Correct Answer D

Marks 1



53 i ipti . . . . .
NS ST Which Answer Figure will complete the pattern in the figure?

T\/|L

A A
B B
c C
D D
E None of the above
Correct Answer C

Marks 1



54 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.

PASTORAL : RURAL

A metropolitan : urban
B harvest : autumn

c agrarian : benevolent
D sleepy : nocturnal

E None of the above
Correct Answer A

Marks 1



55 Question Description
Find the statement that must be true according to the given information.

Ten new television shows appeared during the month of September. Five of the shows were sitcoms, three were hour-
long dramas, and two were news-magazine shows. By January, only seven of these new shows were still on the air.
Five of the shows that remained were sitcoms.

Only one of the news-magazine shows remained on the air.

Only one of the hour-long dramas remained on the air.

At least one of the shows that was cancelled was an hour-long drama.
Television viewers prefer sitcoms over hour-long dramas.

None of the above

m O O W >

Correct Answer C

Marks 1



56 Question Description select the related word/letters/number from the given alternatives.

225:12:435:7?
A 12
B 20
(@ 25
D 19
E None of the above
Correct Answer D

Marks 1



57 Question Description Four of the following five are related to each other in terms of English alphabet series and thus form a group. Which of the
following does not fit to that group?

A FUX

B PKN

(@ HSV

D MNP

E None of the above
Correct Answer D

Marks 1



58 Question Description Gauri went to the stationers and bought things worth Rs. 25, out of which 30 paise went on sales tax on taxable
purchases. If the tax rate was 6%, then what was the cost of the tax free items?

A Rs. 15
B Rs. 15.70
c Rs. 19.70
D Rs. 20
E None of the above
Correct Answer C
Marks 1
59 Question Description Look carefully for the pattern, and then choose which pair of numbers comes next
84 78 72 66 60 54 48
A 44 34
B 42 36
c 42 32
D 40 34
E None of the above

Correct Answer B

Marks 1



60 Question Description Directions: Read the following information carefully and answer the questions given beside.

Certain number of persons sit around a square table such that nobody sits at the corner and not more than 4 persons sit around each
of the sides. Information about few persons is given and all the persons face towards the centre. Only 4 persons sit between P and T,
who is on the immediate left of Q. S is sixth to the right of U. R is at a gap of two persons from U, who is adjacent to T. Only one
person sits between R and V, who is third to the right of S.

What is the position of R with respect to Q?

A Immediate right

B Fifth to the right
c Fifth to the left

D Immediate left

E None of the above
Correct Answer C

Marks 1



61 Question Description In each question below is given a statement followed by two conclusions numbered | and Il. You have to assume

everything in the statement to be true, then consider the two conclusions together and decide which of them logically
follows beyond a reasonable doubt from the information given in the statement.

Statements: Monitoring has become an integral part in the planning of social development programmes. It is
recommended that Management Information System be developed for all programmes. This is likely to give a feedback
on the performance of the functionaries and the efficacy with which services are being delivered.

Conclusions:

I. All the social development programmes should be evaluated.

Il. There is a need to monitor the performance of workers.

Only conclusion Il follows
Either | or |l follows
Neither | nor |l follows
Both | and Il follow

None of the above

m O O W >

Correct Answer D

Marks 1



62 Question Description Each question given below consists of a statement, followed by three or four arguments numbered I, Il, Il and IV. You
have to decide which of the arguments is/are 'strong' arguments) and which is/are 'weak' arguments) and accordingly
choose your answer from the alternatives given below each question.

Statement: Should trade unions be banned completely?
Arguments:

I. Yes. Workers can concentrate on production.
Il. No. This is the only way through which employees can put their demands before the management.
ll. Yes. Employees get their illegal demands fulfilled through these unions.

IV. No. Trade unions are not banned in other economically advanced countries.

A Only | is strong

B Only Il is strong

c Only I and Il are strong

D Only I, Il and Il are strong
E None of the above

Correct Answer B

Marks 1



63 Question Description A clock is started at noon. By 10 minutes past 5, the hour hand has turned through

A 145°

B 150°

c 155°

D 160°

E None of the above
Correct Answer C

Marks 1

64 Question Description How many such pairs of letters are there in the '"CONDITIONAL' each of which has as many letters between them in the

word as in the English Alphabet?

A One

B Two

c Three

D four

E None of the above
Correct Answer E

Marks 1



65 Question Description ) ..
Find the missing Numbers

36 6 9 (15

88 11 |9 2

120 72 |6 (18

A 54,41

B 17,82

c 17,10

D 96,13

E None of the above
Correct Answer C

Marks 1



66 Question Description A wheel that has 6 cogs is meshed with a larger wheel of 14 cogs. When the smaller wheel has made 21 revolutions,
then the number of revolutions mad by the larger wheel is:

A 4

B 9

c 12

D 49

E None of the above
Correct Answer B

Marks 1



67 Question Description

Cc

D
E
Correct Answer

Marks

Read each definition and all four choices carefully, and find the answer that provides the best example of the given
definition.

People speculate when they consider a situation and assume something to be true based on inconclusive evidence.
Which situation below is the best example of Speculation ?

Francine decides that it would be appropriate to wear jeans to her new office on Friday after reading about "Casual
Fridays" in her employee handbook.

Mary spends thirty minutes sitting in traffic and wishes that she took the train instead of driving.

After consulting several guidebooks and her travel agent, Jennifer feels confident that the hotel she has chosen is first-
rate.

When Emily opens the door in tears, Theo guesses that she's had a death in her family.
None of the above

D

1



68 Question Description In the Maple Hill school district, a Five-Day Suspension occurs when a student is not permitted to attend school for
five days for (1) physically assaulting another student, a teacher, or a school employee or (2) willfully destructing or
defacing school property. Which situation below is the best example of a Five-Day Suspension?

A Lillian gets caught cheating on a math test for the second time and is suspended from school.

B Marc is asked to leave the classroom due to his constant disruptions.

c Franny uses spray paint to write derogatory comments on the locker room wall and she is given a suspension.

D Ms. Farmer tells her class that students who fail the midterm exam will be expected to stay after school for tutoring
help.

E None of the above

Correct Answer C

Marks 1



69 Question Description The population of a town increased from 1,75,000 to 2,62,500 in a decade. The average percent increase of population

per year is:
A 4.37%
B 5%
(o 6%
D 8.75%
E None of the above
Correct Answer B

Marks 1



70 Question Description

Correct Answer

Marks

Ten guards from A to J are standing on ten gates of a pentagon shaped park. The gates are built such that the gates at the corners of
the park are large and the gates at the edges of the park are small. The guards at the large gate are facing towards the center while
the guards at the small gate are facing outside the center.

B is standing third to the right of E, who is standing at one of the large gates. C is on the immediate left of D. I is an immediate
neighbor of B and stands third to the right of F. C is not adjacent to both F and B. A is facing towards the center. G faces outside
and is not an immediate neighbor of [ and C. Only 4 guards stand between A and H.

Four of the following five are alike in a certain way and thus form a group. Which of the folloiwng does not belong to the

same group?

None of the above



71 Question Description Which Answer Figure will complete the pattern in the figure?

A ']'B ]l C. 1] DI
[ 1 | I = H
A A
B B
c C
D D
E None of the above
Correct Answer C

Marks 1



72 Question Description Group the given figures into three classes using each figure only once.

XIV=

£ | X1

A
A 1,23;4,56;7,8,9
B 1,3,5;2,46;7,8,9
c 1,59;3,6,2;4,7,8
D 1,9,7;2,8,5;3,4,6
E None of the above

Correct Answer A

Marks 1



73

74

Question Description

A

Correct Answer

Marks

January 1, 2007 was Monday. What day of the week lies on Jan. 1, 20087
Monday

Tuesday

Wednesday

Sunday

None of the above



Question Description

Correct Answer

Marks

study the diagram given below and answer the questions.

No. of families

having VCR \.

110

80 50

20

40

10V° 15| 15

o~

25

No. of families
& having TV

No. of families
having Scooter

No. of families
having Maruti

Find out the number of families which have TV and scooter both but haveneither VCR nor Maruti.

30

15

50

None of the above



75 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.
SPY : CLANDESTINE

A accountant : meticulous
B furrier : rambunctious

C lawyer : ironic

D shepherd : garrulous

E None of the above
Correct Answer A

Marks 1



